Example 
Using Fetkovich’s method, calculate the water influx as a function of time for the following reservoir-aquifer and boundary pressure data: 
pi = 2740 psi 
h = 100 ft 
Ct = 7 × 10–6 psi-1 
μw = 1.03 cp 
k = 200 md 
θ = 140°
Ø=25%
reservoir area = 2373.9 acres 
aquifer area = 59347.605 acres.
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Figure below shows the wedge reservoir-aquifer system with an encroachment angle of 140°.
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The condition that Fetkovich Method deals with is the semi steady state, though there are large differences in pressures, because the reservoir-aquifer system are relatively small.



Solution:
Step 1. Calculate the reservoir radius re:
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Step 2. Calculate the equivalent aquifer radius ra:
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Step 3. Calculate the dimensionless radius rD.
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Step 4. Calculate initial water in place Wi.
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Step 5. Calculate (We)max
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Step 6. Calculate the productivity index J of the radial aquifer

[image: ]
[image: ]
Step 7. Calculate (ΔWe)n 
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Step 8. Calculate cumulative water influx as shown in the following table:
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